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- 1. Division of a line segmerit inthe given ratio

e === 2. Construction of similaw Triangles

----- 3. Construction of pair of Tangerits




I. Division of a Line Segment in the ———
Gwen Ralio

Let’s divide a line segmerit of lengith 16 cm inthe atio 5:3.

Wovawlqg:’lécm. Z %f\ B
X < >

16 cm

% Draw a ray AX making an acute angle with AB.

A - B
. 16 cm *

Locdte 8 (=5 +3) poirits on ray AX such Thet,
R TR Ry A G n e A

Draw a line parallel to BA from

poiit A (by making an angle equal to A - g
LAAQB) inlersecting AB dtthe poirit & = >

________________________
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=== 1. Consthuction of Similah Thiangles =——=

21 Scale Factor > 1

To construct aTriangle whose sides are > times the corresponding sides of the

glven AABC

C

‘ Mw glven AABC % /\

S‘[ep 2:

Drraw any ray AX making an

acule angle with AB on'the side
opposite of the vertex (.,
5
X

Locate 5 (the gredter part of S and 2 i in— ==

poirits A, Ay, A, A, and As on AX such Tho((
AR, = Ay = A = Aghy = Af

Tl —

Step 4: Join A8,




Extend AB 1o wigfit side of poirt B, /\\
S‘(ep 6: i i

Draw a line through As parallel
10 A,B which intersects AB at K"

Produce the line AC tothe right
of poirt &

Drraw a line Through B parallel To
the line BC 1o intersect AC at

The AAB'C’ has sides that are g‘(imes‘(he
corvesponding sides of the given AABC.




29 Scale Factor < 1

To congtruct a triangle whose sides are é Times the corvesponding sides of

the given AABC.

Same first 3 steps s the construction: of Triangle with SF > 1,

C
Join ASB.

:

Draw a line through A, parallel o
ASB To intensect AB at B

Draw a line Thwough B parallel To
the line BC 1o intersect AC at

The AAB'C’ has sides that ave = times the
corvesponding sides of the given AABC.




3. Consthuction of Paib of Tangenls =

To constiruct the angerits 1o a circle from a point (say P) outside it

Given: A point P outside the cincle of certre 0

A

=

Join PO and draw a perpendicular bisector of PO in onden 1o locate its midpoit
Lefs say M is the midpoiit of PO,

Taking M as ceritre and MO (or MP) as radius, draw a circle, Let it intersect the
given circle dt the poirts  and R,

R —

Join PQ and PR,




/\ Constiruction of pair of
Construction of line segment Tangerits 1o a circle from a
\ poirl oulside it J

"~ Construction of similar

Triangle
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Scale factor > 1 Scale factor < 1
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